Opérations avec deux fractions mixtes (A)

Nom:

10.

Date:

Calculez chaque résultat.

51+14 = +
9 16

Convert T
2 3
Sy — 4
58+ 15 +
2 4
57+3E__+_
2 7
x]l— = — x —
56X 13 X
4 7
11
1— X 52 = — x —
19>< 3 X
1 5
-+ 22— = — = —
52 10
3 4
]l — = — % ——
7 %1% X
5552 = — ——
s .2 L
12 773 '

+

Denominator

Solve

+

Simplify

Note:

Convert |
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Opérations avec deux fractions mixtes (A) Réponses

Nom:

10.

Date: Note:

Calculez chaque résultat.

1 4 46 20 736 180 916 229 13

9t 196 = 9t16 T 1aa T 1aa - 143 - 36 _ 36
53+2i—£+£— 630+264_ 894_@_72
8 15 8 15 120 120 120 20 20
Sg+3i_£+@_444+280 3 724_@_89
7 T12 7 12 84 84 84 21 = 21
52X1l_2>(§_ 8& —@—72
6 18 6 18 108 27 T 27
4 7 34 52 34 15 510 85 33
5-+3— = — =22 = x=- =" = — = 1=
6 15 6 15 6 52 312 52 52
o2 30 17 sl00 170 _ 18
19 3 197 3 57 19 T 19
l.,5 1. 25 _ 1 1o 10 _ 1 _ 1
2710 2 10 2725 50 5
3 4 38 14 532 38 3
X T 70T 0 T3 T
2_52 -2 47 _ 1% 188 _ 10 _ 5

T 4 9 36 36 36 18
1 2 61 17 61 3 183 61
5—+5- = — =+ — = — = =

23" 12°3 - %17 T 204 68
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